
Subject: CPU usage x CPU idle
Posted by jrabraga on Thu, 17 Jun 2010 02:17:50 GMT
View Forum Message <> Reply to Message

Hi
Please, a explanation..
When I run the command TOP in hardware node I see..

Cpu(s): 34.8%us, 43.4%sy, 21.3%ni,  0.0%id,  0.0%wa,  0.0%hi,  0.5%si,  0.0%st

Why is 0,0% idle e CPU not 100% ?

Thanks

Subject: Re: CPU usage x CPU idle
Posted by TheStig on Sat, 19 Jun 2010 15:04:27 GMT
View Forum Message <> Reply to Message

34.8%us + 43.4%sy + 21.3%ni + 0.5%si equals exactly 100

so your host is pretty busy and not running idle at all.
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